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Part One: Reading comprehension

Directions: Read the following passages carefully. Each Passage is followed by some questions. Complete
the questions with the most suitable words or phrases (a, b, ¢, or d).
Base your answers on the information given in the passage only.

Passage 1

The translational biochemical theory of depression was the biogenic monoamine hypothesis
which has been the main framework for explaining depression for the last 25 years. This theory
was originally based on the observation that reserpine, which depletes monoamine
neurotransmitters (e.g. noradrenaline and serotonin) in the brain, produces depression. This
hypothesis proposes that depression results from a deficiency in these monoamines at critical
synapses in the brain. It is supported by the action of antidepressant drugs, which relieve
depression by increasing the turnover of monoamine neurotransmitters, but it cannot explain
the delayed action of these antidepressant drugs.

71 . Experiments have shown that reserpine ......
a) reduces noradrenaline and serotonin
b) can serve as a monoamine
c) can function as an anti-depressant drug

d) promotes the reliet of depression

72 — The hypothesis mentioned explains the cause of depression as the..... '

a) use of antidepressants
b) inadequacy of monoamines
c) turnover of monoamines

d) critical synapses in the brain

I 73— It(line 7) refers to..... .

a) action of antidepressant drugs
b) turnover of monoamine '
¢) hypothesis

d) depression

74 — Antidepressant drugs relieve depression by......
a) restoring monoamine neurotransmuitters
b) suppressing the lost neurotransmitters
c} enhancing the deficiency of neurotransmitters

d) making the synapses in the brain critical

75 .. The mentioned hypothesis cannot account for the ......
a) depletion of neurotransmitters

| b) way antidepressant drugs work

c} reasons behind the incidence of depression

d) slow functioning ot antidepressant drugs

P 7 7OV IS
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A variety of theorists, using case studies, experiments and a variety of researc ath'roscla
have attempted to better understand the sources of creativity and innovation in individuals.
While these efforts have contributed significantly to broadening our comprehension of the
subject, there is nonetheless disagreement between theorists and many hypotheses that remain to
be fully substantiated. The challenge lies partially in the nature and definition of creativity itself.
Broad, complex and multi-faceted, creativity can take many forms and can be found within a
variety of contexts. It is embodied by individuals with a broad range of personal characteristics
and backgrounds. It appears that the only rule is that there are no hard and fast rules
concerning the sources of creativity.

Cognitive psychology provides the most prolific and developed perspective on the sources of
individual creativity. In 1950, J.P. Guilford, then President of the American Psychological
Association, stated in his presidential address that the topic of creativity deserved greater
attention. Following this seminal call to action, psychological research on creativity expanded
significantly. These efforts have concentrated on the cognitive processes behind creativity, the
characteristics of creative people, the development of ereativity across the individual life span,
and the social environments most conducive to creativity.

76 — Regarding the sources of creativity, the current view is that ..... :

a) one’s individual characteristics are the most important factors
b) the social environment where one is brought up is more significant
c) cognitive processes are the underlying source

d) we have failed to definitely determine them

77 = One problem regarding identifying the sources of creativity is the......
a) compromise achieved in forming theorists
b) ambiguity of creativity definition

¢) existence of hard and fast rules

d) limited variables affecting creativity

78 — It is said that the hypotheses on the sources of creativity are ..... :
a) quite comprehensive
b) too general to prove
¢) limited in most aspects
d) yet to be venfied

79 — According to Guilford, creativity ......

a) requires greater focus

b) should be redefined
c) Dbasically results from cognitive processes

d)} 1s more developed through nurture

80 . The paragraph 1s mainly related to ..... ‘
a) origins of creativity
b) cognitive psychology
¢) smmplicity of innovation
d) mental theories and hypotheses

eP1 Z7OVIEFIED
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Over the next decade, I suspect you will start to see a huge advertising blitz highlighmg|theg ha

need to treat and mange sarcopenia (muscle wasting). There will be a lot of discussion about
mitochondria-the litile organelles or “energy generators” that reside in each cell Mitochondria
combine oxygen and nutrients to create fuel for cells.

Mitochondria sort of operate on their own, independently from the rest of the cell. They have
their own DNA and repair systems and multiply on their own. Over time, their genetic material
mutates and the number of mutations overwhelms their ability to make necessary repairs. As a
result, mitochondria start to malfunction and die. In the process, muscle cells shrink and die.
Many in the scientific community think this is the underlying cause of aging.

The pharmaceutical industry is working on drugs that counteract the damage from
mutations and help preserve mitochondrial function. We have seen many similar situations time
and time again with drugs to reduce cholesterol, increase bone density, and so on. In every case,
the results are underwhelming and the side effects very often outweigh the benefits. Changing
and artificially manipulating body chemistry can have miraculous effects in the short term. And
it can definitely be a godsend in emergency situations. But long-term manipulation, or what the
pharmaceutical industry now calls “managing a disease”, is not always so advantageous (at least

to the patient anyway).

81— The author thinks that one can slow the aging process by ..... .

a) taking conventional drugs
b) controlling mitochondna erosion
¢) reducing cholesterol level

d) manipulating body chemistry

82 — Mitochondria are considered to be ..... of each cell.

a) repair system b) nutrient consumer C) energy source d) material filler

83 — “It” in line (15), refers to ..... :

a) drugs effect
b) body chemstry
c) changing mitochondra

d) manipulating cholesterol level

84 _ The phrase “a godsend” is used to ..... drug use.

85 -

p P |
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a) promote long-term

b) praise short-term

¢) blame
d) deny
All of the following are true except that mitochondna .....

a) can repatr themselves
b) can multiply on their own
c) are independent of other cells

d) are muscle cell generators
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According to a new study, mutations in genes that occur Spuntaneously@mﬁgﬁ\t@ilbiﬁ@@@
congenital heart diseases in children. These mutations may contribute to about 10 percent of
cases of congenial heart disease in children, which is the most common type of birth defect in the
United States, the study said. About 40,000 babies are born each vear with congenital heart
disease.

While some chromosomal abnormalities ( such as Down syndrome) and infections during
pregnancy are known to cause congenital heart disease, the new study shows that spontaneous
gene mutations during fetal development affect the development of brain and heart, and may
lead to congenital heart disease in children with healthy parents.

In the study, researchers looked at the rate of spontancous mutations in 362 children with
severe congenital heart disease, 264 healthy children and parents of beth groups.

Although children in both groups had about the same number of spontancous mutations, the
locations of those mutations were markedly different in the two groups. “The mutations in
patients with congenital heart disease were found nmuch more frequently in genes that are highly
expressed in the developing heart,” said study researchers Christine Seidman, a Howard Hughes
Medical Institute investigator.

This finding provides insights for future research, and may someday lead to better treatment
options the researchers said.

Pas ag 4

86 = Reading the passage, we understand that congenital heart diseases ......
a) are caused by gene mutations

b) must be inherited from a parent

c) arise due to conception

d) mostly result from chromosomal abnormalities

87 — The commonest anomaly at birth in American children is
a) birth defect

b) heatt discase

C) gene mutation

iiiiii

d) chromosomal abnormality

88 — Down syndrome is mentioned as an example of ......
a) chromosomal defects

b) pregnancy infections
c) congenital heart diseases

d) inborn heart defects

89 — The disease in question is even seen in children with
a) healthy parents

b) afflicted parents
¢} abad gene in both parents

d) adefective gene in one parent

oF DVIFTFTG

sanapezeshki.com




CUn L gooulicde for the passage is ..... .

o1 -

92 .

93 -

sanapezeshki.com

“NUN

a) 10 percent of American babies suffer from heart disease
b) Spontaneous gene mutations linked to kid’s heart defects
¢) American babies: highest percentage in congenital heart disease

d) Pregnancy chromosomal abnormalities due to heart defects

Passage 5

Like milk, yogurt contains important nutrients such as protein and calcium. Traditional
yogurt is made by adding two bacterial cultures to milk to “ferment” the lactose inte lactic acid,
giving the product a tart, sour flavor and creating the thick consistency. If the yogurt is chilled
rather than heated after fermentation, the bacteria remain alive and the product can be labeled
as containing “live” or “active” cultures, which makes it a probiotic(i.e good for your
gut).Studies show that live, active probiotic cultures can improve digestive health and regulation
of the immune system. The practice of choosing a healthy yogurt is all about checking the
nutrition facts (paying attention to added sugars and protein content) and the ingredient list( to
avoid additives and sweeteners).While common ingredients like pectin and guar gum are derived
from plant sources, their presence is a sign of a poorer-quality product. Sugar will show up In
most flavored yogurts, so you might consider choosing a plain yogurt and adding your own fruit
of berries. If you are choosing a flavored yogurt, seek one with low sugar content. Synthetic
sweeteners like high-fructose corn syrup should be completely avoided. Additionally, choose
organic whenever possible. If organic is not an option, look for the words “rBGH-free”,
“hormone-free” or “grass-fed” on the label.

The passage mainly focuses on ..... of yogurt.
a) benefits
b) sweeteners
¢} complications
d) preservatives
The passage recommends yogurt ......

a) with synthetic flavor
b) free of hormone
¢) with active culture

d) with com syrup

Bacterial culture is used as something ......
a) to be avoided
b) 1increasing thickness
c) g@ving flavor

d} to preserve ingredients
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94 _ Theswriter believes that “pectin® is ......

95 _ In buying dairy products
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a) a plant product and beneficial
b) aplant product but harmful
¢) synthetic but beneficial

d) organic but high in fructose

------

a) fructose-added

b) probiotic-contained
¢) flavor-added

d) guar-derived

Part two: Vocabulary Questions:

96 -

97 -

08 —

99 -

102 — Toxins can harm our cels if they are

eP1l ZZOVIFIPICH
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yogurt should be avoided.
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Directions: Complete following sentences by choosing the best answer.

Despite its popular acceptance, the theory that inactivity causes obesity ..... evidence.

a) lacks b} provides

C) possesses

d) aggregates

The doctor assessed all possible solutions to choose the best......

a) complication b) altermative

c) principal

d) compliment

Reviewing the last 8 months’ events, one can easily ----------- that another manager will be

appointed by administrative board sooner or later.

a) anticipate b) elaborate

¢) emancipate
* |

d) appreciate

{

The teacher is going to -———— a class survey to find out the level of awareness of the students

about endangered animals.

a) contract b) intervene

a) inhaled b) infested

¢} devote

{ 100 — People are advised to avoid adverse emotions since they ten?:l to —

-—= 01 absorbed

¢} reverse

d) conduct

— the immune system.

a) potentiate b) depress ¢) enhance d) appreciate
101 — Treatment of some diseases consists of abstinence and multiple vitamin--—------—--,
a) supplementation b) resistance ¢) deficiency d) tolerance

into our bloodstream.
d) rehearsed

d
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achieve proper diagnosis. -

l a) convincing b) mconclusive ¢} inadequate d) pervasive
104 — In medical practices, diagnosis————— treatment as a rule.
a) emerges from b) precedes ¢) contradicts d) rules out
105 - Although he is not highly educated, his talent-------- -- his deficiency; he is usnally successful in his
affairs.
a) compensates for b) refers to c) searches for d) contnbutes to
106 - Governments are expected to ----—--—---—- the lIaws that are in conflict with the community’s
benefits.
a) adopt b) abolish ¢) achieve d) acquire |
107 — Elevated workplace noises can cause nmnumerous health problems like hearing impairment,
hypertension, ~=------ , and sleep disturbance.
a) prudence b) extravagance ¢) indulgence d) annoyance
108 — Flexibility begins to--------- with age as connective tissue stiffen, muscles shorten and joints

become drier as synovial fluid dries up.

a) disseminate b) consolidate c) deteriorate d) upgrade
109 — The manager’s suggestion appeared so ------- that it aroused the committee members’ 1nterest
and appreciation.
a) restricting b) confusing ¢) intriguing d) conflicting
110 — Due to the lack of sufficient evidence, the physicians --—---- that the cause of the disease may be a
virus. :
a) substantiated b) commanded - c) calculated d) postulated
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